STEERING & SUSPENSION PARTS

Ajuo sasodind uoljewuIo Ul 10) Pasn ale JUSWNDJOP SIY3 Ul papn|aul Biep pue siaquinu jied ‘suondusssp jonpoud ||v
A1pldeWE |B]1q 929PES 19119 9A 1iEjeiewnu Bd1ed ‘UejewuEyId. unin wn epuewnyop ng ¥

SINALI M3N




Py
\> TeCNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: A-171
Lateral Arm

T
"

Qe

Weight: 8768  Length: 295

MODEL NO BODY CODE
q7 M
COMPONENTS NUMBER
@ SB 1090

Q 561091

TEKNOROT REF: A-512K
Steering Tie Rod Kit

Weight: 678  Length: 1276  Bolt Metric: M14X1,5

MODEL NO BODY CODE

A4 802 8E5, BS

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

DIRECTIONS

DIRECTIONS

with accessories

Housing Metric: M16X1,5

DIRECTIONS

)19 AUGUST

ADAPTABLEFOR ALJDI

OEMNO

4AMO501529L

OEMNO

ADAPTABLEFOR ALJDI

OEMNO

4004228214, BEO4228210



/
K)\ i ng(f;ﬂgﬁg I

TEKNOROT REF. A-512H ADAPTABLEFOR AUDI
Steering Tie Rod Kit with accessories

Weight: 678  Length: 1276  Bolt Metric: M14X15  Housing Metric: M16X15

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
A4 8E2 BES, BE 2001-2004 Front 400422821A, BE04228210
TEKNOROT REF: A-512K ADAPTABLEFOR ALJD/
Steering Tie Rod Hit with accessories

Weight: 6768  Length: 1276  Bolt Metric: M14X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

A4 8EC, 8ED 2004-2008 Front 4004228214, BEO4228210

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




TEKNOROT REF. A-512H ADAPTABLEFOR AUDI
Steering Tie Rod Hit with accessories |

Weight: 678  Length: 1276  Bolt Metric: M14X15  Housing Metric: M16X15

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
A6 4B, C5 1997-2005 Front 4004228214, BEO4228210
TEKNOROT REF: A-512K ADAPTABLE FOR A UD/
Steering Tie Rod Kit with accessaries

Weight: 678  Length: 1276  Bolt Metric: M14X15  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

A8 402, 4D8 1994-2002 Front 4004228214, BEO4228210

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




TEKNOROT REF: A-512K s R SHODA
Steering Tie Rod Kit with accessories

Weight: 678  Length: 1276  Bolt Metric: M14X15  Housing Metric: M16X15

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
SUPERB (3U4) 2002-2008 Front 4004228214, 8E0422821C
TEKNOROT REF: A-512K ADAPTABLEFOR VOLKSWAGEN
Steering Tie Rod Kit with accessories |

Weight: 678  Length: 1276  Bolt Metric: M14X15  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

PASSAT B5 B5.5 1997-2005 Front 4004228214, BEO4228210

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF. A-648 ADAPTABLEFOR AUDI

Suspension Control Arm and
Ball Joint Assembly

Weight: 3976  Length: 368  Bolt Metric: M12X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
T 83 oo06-2014 " o LRight 8J04071510
ower
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
J A-644 Ball Joint Fr ’Z”t Right 8J0407366
ower
‘ SB 487
“® SB1312 ControlArm | Front Lower 8J04071510* 8104071520
\! Bushing Outer
TEKNOROT REF: A-6485 ST
Suspension Control Arm
Weight: 3036  Length: 366
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
T 8J3 2006-2014 Front Lower 8J04071510
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
‘ SB 487
@ SB1312 GontrolArm | Front Lower 8J04071510* 8J04071520"
I Bushing Outer

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T=NOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. A-648 ADAPTABLEFOR AUDI

Suspension Control Arm and
Ball Joint Assembly

- r.’ —)
Weight: 3976  Length: 368  Bolt Metric: M12X1,5
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
T Fv3 2014- Front Right 8J04071510
Lower
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
J A-644 Ball Joint Front Right 80407366
Lower
‘ SB 487
@y SB 1312 Control Amn Front Lower 8/04071510* 8I04071520
g Bushing Outer
TEKNOROT REF- A-649 soTBLEFoR ALY
Suspension Control Arm and

Ball Joint Assembly

Weight: 3976  Length: 368  Bolt Metric: M12X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
T 8J3 2006-2014  Front Left Lower 8104071520
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
& A-645 Ball Joint Front Left Lower 8J0407365
‘ SB 487
g SB1312 ControlArm | Front Lower 8104071510* 8104071520
e Bushing Outer

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



N TXNOROT

\’ STEERING &8 SUSPENSION PARTS UGUST

TEKNOROT REF. A-649 ADAPTABLEFOR AUDI

Suspension Control Arm and
Ball Joint Assembly

Weight: 3976  Length: 368  Bolt Metric: M12X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
T FV3 2014- Front Left Lower 8104071520
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
& A-645 Ball Joint Front Left Lower 80407365
‘ SB 487
:}‘ SB1312 Control Arm | Front Lower 8J04071510* 8104071520
< Bushing Outer
TEKNOROT REF: AC-143 A0APTABLEFOR ACLIRA

Steering Tie Rod

Weight: 338  Length: 120,7  Bolt Metric: M14X15  Housing Metric: M14X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

RL 1996-2004 Front 530105W5003

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: AC-143 ADAPTABLE FOR AG'U/?A
Steering Tie Rod

Weight: 338 Length: 120,7  Bolt Metric: M14X1,5  Housing Metric: M14X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
7L IstGen UAI-UA3  1996-1998 Front 530105W5003
TEKNOROT REF: AC-143 ADAPTABLEFOR HONLDA
Steering Tie Rod

Weight: 338  Length: 120,7  Bolt Metric: M14X15  Housing Metric: M14X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

LEGEND 1996-2004 Front 530105W5003

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T=NOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: AC-261 ADAPTABLEFOR ACURA
Steering Tie Rod End

e

Weight: 1021  Length: 2455  Bolt Metric: M12X1.25 — Housing Metric: M14X1,5

MODEL NO BODY CODE VEAR DIRECTIONS OEMNO
RL 1996-2004 Front Right 53540523003
TEKNOROT REF: AC-261

Steering Tie Rod End

i’ 2

Weight: 1021 Length: 2455  Bolt Metric: M12X1,25  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

7L IstGen, UAI-UA3  1996-1998 Front Right 53540573003

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



4 ) TNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: AC-261 ADAPTABLEFOR HONDA
Steering Tie Rod End |

Weight: 1021  Length: 2455  Bolt Metric: M12X1.25 — Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
LEGEND 2nd Gen 2005-2012 Front Right 53540573003
TEKNOROT REF: AC-261 ADAPTABLEFOR HONLDA
Steering Tie Rod End

Weight: 1021 Length: 2455  Bolt Metric: M12X1,25  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

LEGEND 1996-2004 Front Right 53540573003

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T=NOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: AC-262 ADAPTABLEFOR ACURA
Steering Tie Rod End

Weight: 1021  Length: 2455  Bolt Metric: M12X1.25 — Housing Metric: M14X1,5

MODEL NO BODY CODE VEAR DIRECTIONS OEMNO
RL 1996-2004 Front Left 53560573003
TEKNOROT REF: AC-262

Steering Tie Rod End
ray

Weight: 1021 Length: 2455  Bolt Metric: M12X1,25  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

7L IstGen, UAI-UA3  1996-1998 Front Left 53560573003

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



4 ) TNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: AC-262 ADAPTABLEFOR HONDA
Steering Tie Rod End |

Weight: 1021  Length: 2455  Bolt Metric: M12X1.25 — Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
LEGEND 2nd Gen 2005-2012 Front Left 53560523003
TEKNOROT REF: AC-262 ADAPTABLEFOR HONLDA
Steering Tie Rod End

Weight: 1021 Length: 2455  Bolt Metric: M12X1,25  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

LEGEND 1996-2004 Front Left 53560573003

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



o/ a
\J\ TeCNOROT

TE/L(NOIQOT IC\)E/__ 5'10011003 ADAPTABLE FOR BMW
Steering Tie Rod Assembly xdrive E>

Weight: 1160 Bolt Metric: M12X1,5  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
3-SERIES £46 1998-2005  Front Right 32106774319
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
AELA B-1001 Tie Rod End Front Right 32106774321
o B-1003 Axial Joint Front 32106774318% 32106774319"
o
TEKNOROT REF: B-10021003 ADAPTABLEFOR BMW
Steering Tie Rod Assembly xdrive

®

Weight: 1160  Bolt Metric: M12X1,5  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
3-SERIES E46 1998-2005 Front Left 32106774318
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
b B-1002 Tle Rod End Front Left 32106774520
e B-1003 Axial Joint Front 32106774518 32106774319*
o

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



&} e Eﬁw(f;mgﬁg Ant

TE/L(NOIQOT IL_\)E/: 5'1003 ADAPTABLE FOR BMW
Steering Tie Rod xdrive e

Weight: 450  Length: 1974  Bolt Metric: M14X1,5  Housing Metric: M18X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
3-SERIES E46 1998-2005 Front 32106774318 32106774319*
TEKNOROT REF: B-1007 ADAPTABLEFOR BMW

Suspension Stabilizer Bar Link

S
{8

Weight: 190  Length: 1974  Bolt Metric: M14X15  Housing Metric: M18X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

5-SERIES G30, G651 2017- Rear 353506861482

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




TEKNOROT REF: B-1007 ADAPTABLEFOR BMW
Suspension Stabilizer Bar Link

s
.

Weight: 190  Length: 1974  Bolt Metric: M14X1,5  Housing Metric: M18X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

7-SERIES G11,G12 2017- Rear 33506661462
TEKNOROT REF: B-1018 ADAPTABLEFOR BMW
Suspension Control Arm and

Ball Joint Assembly

Weight: 1.308

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
5-SERIES 630,631 2017- Front Upper 31106861165
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
- SB 1287 Lontrol Arm Front Upper 31106861165
* Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



(\ TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. CO-128

Suspension Control Arm and
Ball Joint Assembly

Weight: 11.224

MODEL NO BODY CODE
3rd Gen,
ESCALADE GMTI00
COMPONENTS NUMBER
"y

‘ CH-835

‘ 561029
' 561050

TEKNOROT REF. CD-128

Suspension Control Arm and
Ball Joint Assembly

Weight: 11.224

MODEL NO BODY CODE
2nd Gen,
SILVERADO 1500 GMT900
COMPONENTS NUMBER

1 CH-835

‘ 561029
' 561050

AUGUST

ADAPTABLEFOR CADILLAC
Cast iron
YEAR DIRECTIONS OEM NO
2007-2014  TTONLRON 20869200
Lower
NAME DIRECTIONS OEM NO
Ball Joint Front Lower 19256481, 19256481
ADAPTABLEFOR CHEVROLET
Castiron
YEAR DIRECTIONS OEM NO
20072013 ORI 20869200
Lower
NAME DIRECTIONS OEM NO
Ball Joint Front Lower 19256481, 19256481

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



§ =noenT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. CD-128 ADAPTABLEFOR CHEVROLET

Suspension Control Arm and Castiron
Ball Joint Assembly

prom— qj S wa

Weight: 11.224

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
3rd Gen, . Front Right
TAHOE GMTI00 2007-2014 | ower 20869200
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
"y
‘ CH-835 Ball Joint Front Lower 19256481, 19256481

‘ 561029
' 561050

TEKNOROT REF. CD-128 ADAPTABLEFOR GHEVROLET

Suspension Control Arm and Castiron
Ball Joint Assembly

Weight: 11.224

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
10th Gen, . Front Right
SUBURBAN GMTI00 2007-2014 L ower 20869200
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
i CH-835 Ball Joint Front Lower 189256481, 19256481

‘ 561029
' 561050

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: CD-129 ADAPTABLEFOR CADILLAC

Suspension Control Arm and Castiron
Ball Joint Assembly

Weight: 11.224

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

ESCALADE gﬁ%%[zj 2007-2014  Front Left Lower 20869200

COMPONENTS NUMBER NAME DIRECTIONS OEMNO
i CH-835 Ball Joint Front Lower 19256481, 19256481

‘ 561029
' 561050

TEKNOROT REF. CD-129 ADAPTABLEFOR GHEVROLET

Suspension Control Arm and Castiron
Ball Joint Assembly

Weight: 11.224

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
2nd Gen,
SILVERADO 1500 GMTI00 2007-2013  Front Left Lower 20869199
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
1 CH-835 Ball Joint Front Lower 189256481, 19256481

‘ 561029
' 561050

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



§ =noenT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: CD-129 ADAPTABLEFOR CHEVROLET

Suspension Control Arm and Castiron
Ball Joint Assembly

prom— qj S wa

Weight: 11.224

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

TAHOE g/r\;l%egn@ 2007-2014  Front Left Lower 20869199

COMPONENTS NUMBER NAME DIRECTIONS OEMNO
i CH-835 Ball Joint Front Lower 19256481, 19256481

‘ 561029
' 561050

TEKNOROT REF. CD-129 ADAPTABLEFOR GHEVROLET

Suspension Control Arm and Castiron
Ball Joint Assembly

Weight: 11.224

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
10th Gen,
SUBURBAN GMTa00 2007-2014  Front Left Lower 20869199
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
i CH-835 Ball Joint Front Lower 189256481, 19256481

‘ 561029
' 561050

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T=NOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: CD-196 ADAPTABLEFOR CADILLAC
Suspension Stabilizer Bar Link

@ s
E

S

|"" '@I

Weight: 569  Length: 205  Bolt Metric: M14X2

MODEL NO BODY CODE VEAR DIRECTIONS OEMNO
Ccr7s 2nd Gen 2008-2014 Front 22816602, 156250258
TEKNOROT REF. CD-216 ADAPTABLEFOR GADILLAC

Suspension Stabilizer Bar Link

Weight: 329  Length: 102  Bolt Metric: M12X1,75

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

CTS 2nd Gen 2008-2014 Rear Right 25964514

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. CD-217 ADAPTABLEFOR CADILLAC
Suspension Stabilizer Bar Link

Weight: 329  Length: 102  Bolt Metric: M12X1,75

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
Ccrs 2nd Gen 2008-2014 Rear Left 259645183
TEKNOROT REF: CH-1006 ADAPTABLEFCR GHEVROLET
Suspension Stabilizer Bar Link Steel type
-
o YEAR ONLY
2002-2003
Weight: 544 Length: 90  Bolt Metric: M12X1,75
MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
TRAILBLAZER 1stGen 2002-20089 Front Right 12479233

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



\/} ST EEHV(L?&QEH I

TEKNOROT REF: CH-1006 ADAPTABLEFOR GMIC
Suspension Stabilizer Bar Link Steel type
&, YEAR ONLY
~ 2002-2003
Weight: 544  Length: 30  Bolt Metric: M12X1,75
MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
ENVOY 2nd Gen 2002-2009 Front Right 12479233
TEKNOROT REF: CH-1006 ADAPTABLEFOR [SUZU
Suspension Stabilizer Bar Link Steel type '

Weight: 544  Length: SO  Bolt Metric: M12X1,75

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

ASCENDER 2003-2008 Front Right 12479233

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



(\ TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. CH-1007
Suspension Stabilizer Bar Link

>
&2

BES

)
Weight: 544  Length: 30  Bolt Metric: M12X1,75

MODEL NO BODY CODE

TRAILBLAZER 1IstGen

TEKNOROT REF. CH-1007
Suspension Stabilizer Bar Link

>
o)

it

]

e
Weight: 544  Length: SO  Bolt Metric: M12X1,75

MODEL NO BODY CODE

ENVOY 2nd Gen

Steel type

YEAR ONLY
2002-2003

YEAR DIRECTIONS

2002-2009

Steel type

YEAR ONLY
2002-2003

YEAR DIRECTIONS

2002-2009

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

Front Left

Front Left

AUGUST

ADAPTABLEFOR GHEVROLET

OEMNO

12479231

ADAPTABLEFOR GMIG

OEMNO

12479231



TEKNOROT REF: CH-1007 ADAPTABLEFOR [SUZU
Suspension Stabilizer Bar Link Steel type '
= a—

i)

Weight: 544  Length: 30  Bolt Metric: M12X1,75

MODEL NO BODY CODE VEAR DIRECTIONS OEMNO
ASCENDER 2003-2008 Front Left 12479231
TEKNOROT REF.: CH-626 ADARTABLEFURSCIHIEVROLE T

Suspension Control Arm and W0

Ball Joint Assembly

o
Weight: 4055  Length: 3285  Bolt Metric: 20 G 1/2 UNF

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
3 Front Right
BLAZER 2nd Gen 1995-2005 Upper 19133654
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
& fis CH-625 Ball Joint Front Upper 88911387, 9767112
SB 1263

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: CH-626 ADAPTABLEFOR CHEVROLET

Suspension Control Arm and 2W0
Ball Joint Assembly

Weight: 4055  Length: 3285  Bolt Metric: 20 G 1/2 UNF

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
3 Front Right
ASTRO 2nd Gen 1995-2005 Upper 19133654
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
& fils CH-625 Ball Joint Front Upper 86911387, 9767112
SB 1263
TEKNOROT REF: CH-626 ADAPTABLEFOR GMIG
Suspension Control Arm and ‘ ‘

Ball Joint Assembly

Weight: 4055  Length: 3285  Bolt Metric: 20 G 1/2 UNF

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
3 Front Right
SAFAR/ 2nd Gen 1995-2005 Upper 19133654
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
& fis CH-625 Ball Joint Front Upper 88911387, 9767112
SB 1263

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



§ =noenT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: CH-627 ADAPTABLEFOR CHEVROLET

Suspension Control Arm and 2W0
Ball Joint Assembly

Weight: 4055 Length: 3285  Bolt Metric: 20 G 1/2 UNF

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
BLAZER 2nd Gen 1995-2005  Front Left Upper 19133653
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
& s CH-625 Ball Joint Front Upper 86911367, 9767112
SB 12683
TEKNOROT REF: CH-627 ADAPTABLEFCR GHEVROLET
Suspension Control Arm and W0 e

Ball Joint Assembly

Weight: 4055  Length: 3285  Bolt Metric: 20 G 1/2 UNF

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
ASTRO 2nd Gen 1995-2005  Front Left Upper 19133653
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
& fis CH-625 Ball Joint Front Upper 88911387, 9767112
SB1263

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



(} TSXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: CH-627 ADAPTABLEFOR GMIC

Suspension Control Arm and 2W0
Ball Joint Assembly

4'_;
Weight: 4055  Length: 3285  Bolt Metric: 20 G 1/2 UNF

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
SAFARI 2nd Gen 1995-2005  Front Left Upper 19133653
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
& fils CH-625 Ball Joint Front Upper 86911387, 9767112
SB 1263
TEKNOROT REF: CH-668 ADAPTABLEFOR CHEVROLET
Suspension Control Arm and

Ball Joint Assembly

Weight: 3416  Length: 359  Bolt Metric: M12X1,75

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. Front Right
MALIBU 6th Gen 18997-2005 L ower 15216918
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
rw
4 CH-1004 Ball Joint Front Lower 108365842* 22157023*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



4 ) TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: CH-668

Suspension Control Arm and
Ball Joint Assembly

Weight: 3416  Length: 359  Bolt Metric: M12X1,75
MODEL NO BODY CODE YEAR DIRECTIONS
. Front Right
GRAND AM 5th Gen 1999-2005 L ower
COMPONENTS NUMBER NAME DIRECTIONS
o
4 CH-1004 Ball Joint Front Lower
TEKNOROT REF: CH-669
Suspension Control Arm and
Ball Joint Assembly
Weight: 3416  Length: 359  Bolt Metric: M12X1,75
MODEL NO BODY CODE YEAR DIRECTIONS
MALIBU 6th Gen 1997-2005  Front Left Lower
COMPONENTS NUMBER NAME DIRECTIONS
orw
CH-1004 Ball Joint Front Lower

+

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

AUGUST

ADAPTABLEFOR PONTIAC

AL

OEMNO

15216918

OEMNO

10365842+, 22157025*

ADAPTABLEFOR CHEVROLET

OEMNO

15216919

OEMNO

10365642* 22157023*




{5 T&NOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: CH-669

Suspension Control Arm and
Ball Joint Assembly

Weight: 3416  Length: 359  Bolt Metric: M12X1,75

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
GRAND AM 5th Gen 1999-2005  Front Left Lower 15216919
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
4 CH-1004 Ball Joint Front Lower 108365842+ 22157023*
TEKNOROT REF. CI-378 ADAPTABLEFOR CITROEN
Suspension Control Arm and Sheet Metal ¥ 0

Ball Joint Assembly

Weight: 3918  Length: 5045  Bolt Metric: M16X2.5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Front Right
C4 PICASSO Il 2013-2018 L ower 9678511280, 8803434080
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
@ Cl-365 Ball Joint Front Lower 9803434080
Q SB 856

‘,«) 568837

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/
\)\ TeCNOROT

STEERING &8 SUSPENSION PARTS

Suspension Control Arm and Sheet Metal
Ball Joint Assembly

{;

Weight: 3918  Length: 5045  Bolt Metric: M18X2.5

TEKNOROT REF. CI-379 ADAPTABLEFOR CITROEN

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
C4 PICASSO Il 2013-2018  Front Left Lower 9678311380, 9803434080
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
& Cl-365 Ball Joint Front Lower 9803434080
9 SB 8956
‘/‘ SB 3857
TEKNOROT REF. CR-126 ADAPTABLEFOR CHRYSLER
Lateral Arm RWD

Weight: 336  Length: 321
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
300 1stGen 2005-2010 Rear Right 68184782AB
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
Q SB 1313 Lontrol Arm Rear 681847824B*
b Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




/
\)\ TeCNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. CR-126 ADAPTABLEFOR DODGE
Lateral Arm t0-2010

Weight: 336  Length: 321

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
CHALLENGER 4th Gen 2008- Rear Right 6818478248
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

= SB1313 Control Amn Rear 68184782AB*
b Bushing
TEKNOROT REF: CR-127 ADAPTABLEFOR GHRYSLER
Lateral Arm RWD

©
:
(0]

Weight: 336  Length: 321

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
300 1st Gen 2005-2010 Rear Left 68184783AB
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
0/ SB 1313 Lontrol Arm Rear 681847824B*
5 Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



N TSNOROT

A
k J STEERING &8 SUSPENSION PARTS

TEKNOROT REF. CR-127 ADAPTABLEFOR DODGE
Lateral Arm t0-2010

Weight: 336  Length: 321

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
CHALLENGER 4th Gen 2008- Rear Left 6818478348
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

Q SB1313 tontrol Arm Rear 681847824B*
5 Bushing

TEKNOROT REF: CR-436 ADAPTABLEFOR CHIBYSLER
Suspension Stabilizer Bar Link

.

Weight: 424  Length: 284  Bolt Metric: M10X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

68241038AB, 68164037AA,

200 2nd Gen 2015- Front 6624103544

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A T=
\; i EE,N(L;NQEH I

TEKNOROT REF. DO-210

Suspension Ball Joint

Weight: 783  Length: 727

MODEL NO

RAM 2500

Bolt Metric: M20X2.5

BODY CODE

3rd Gen

TEKNOROT REF. DO-210

Suspension Ball Joint

Weight: 783  Length: 72.7

MODEL NO

RAM 3500

Bolt Metric: M20X2,5

BODY CODE

3rd Gen

9 AUGUST

ADAPTABLE FOR DUDG'E
Power steering =
YEAR DIRECTIONS OEMNO
2002-2009  Front Lower 506667448
ADAPTABLEFOR [JODGE
Power steering

YEAR DIRECTIONS OEMNO

2002-2009 Front Lower 508667448

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



(\ TXNOROT

STEERING &8 SUSPENSION PARTS UGUST

TEKNOROT REF: DO-351
Steering Tie Rod End

ADAPTABLEFOR RAM

@

x
-
o
]

Weight: 791  Length: 1108  Bolt Metric: M14X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
1500 2011- Front Outer 68165640AA

TEKNOROT REF: F-1003 ADAPTABLEFOR [VEGO

Steering Tie Rod e -
o e — -
Weight: 733  Length: 3312  Bolt Metric: M16X15  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
DAILY v 2006-2011 Front 42532977

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



4 ; TNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. FO-1081 ADAPTABLEFOR FORD
Steering Tie Rod End with sport package

Weight: 576  Length: 124  Bolt Metric: M14X1,5  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

EXPLORER 3rd Gen 2002-2005 Front Outer 5L273A130AA
TEKNOROT REF: FO-1103 ADAPTABLEFOR ORI
Steering Tie Rod

© - e »

Weight: 407  Length: 1797  Bolt Metric: M14X1,5  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

FUSION IstGenusatype  2006-2012 Front AE5Z3280A

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



4 ; TNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. FO-1141 ADAPTABLEFOR FOIRL)
Steering Tie Rod End VEAR ONLY RS R
—%- 1998-2001

Weight: 556  Length: 112  Bolt Metric: M10X15  Housing Metric: M16X15

MODEL NO BODY CODE YEAR DIRECTIONS OEM NGO
EXPLORER UN105/UNI50 1995-2001 Front Outer 5L575A130AA
TEKNOROT REF: FO-1141 ADAPTABLEFOR ORI

Weight: 556  Length: 112  Bolt Metric: M10X1,5  Housing Metric: M16X15

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

EXPLORER 2002-2005 Front Outer 51573A130AA

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



4 ; TNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: FO-1141 ADAPTABLEFOR FORD
Steering Tie Rod End

Weight: 556  Length: 112  Bolt Metric: M10X15  Housing Metric: M16X15

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
RANGER IUSA Type 1998-2011 Front Outer 5L5Z3A130AA
TEKNOROT REF: FO-1142 ADAPTABLEFOR ORI
Steering Tie Rod End FOR SHELBY, GT350
g

Weight: 568  Length: 112  Bolt Metric: M10X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

MUSTANG 6th Gen 2016- Front FR3Z3A1308B

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



//‘
\} i Eﬁgﬂgﬁg I

TEKNOROT REF.: FO-11021083
Steering Tie Rod Assembly

o - m—
Weight: 1.743  Length: 565
MODEL NO BODY CODE
EXPLORER 3rd Gen
COMPONENTS NUMBER
—_— FO-1102

7 FO-1083

TEKNOROT REF. FO-11021083
Steering Tie Rod Assembly

¥ —
Weight: 1.743  Length: 565
MODEL NO BODY CODE
AVIATOR
COMPONENTS NUMBER
—_ . FO-1102

7 FO-1083

AUGUST

ADAPTABLEFOR FORD

OEMNO

2L275A972AA% 1L275A972AB*

OEMNO

2L275A972AA, 1L275A972AB

2L275A972AA, 1L275A972AB

ADAPTABLEFOR [ INGOLN

YEAR DIRECTIONS
2002-2005 Rear
NAME DIRECTIONS
Tie Rod End Rear Outer
Tie Rod End Rear Inner
YEAR DIRECTIONS
2002-2005 Rear
NAME DIRECTIONS
Tie Rod End Rear Outer
Tie Rod End Rear Inner

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

2L275A972AA%, 1L2Z6ATF72AB*

OEMNO

2L275A972AA, 1L275A972AB

2L275A972AA, 1L275A972AB



/
K)\ i ng(f;ﬂgﬁg I

TEKNOROT REF: H-528 ADAPTABLEFOR HONIDA

Suspension Control Arm and
Ball Joint Assembly

Weight: 4802  Length: 386  Bolt Metric: M14X2

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
. . Front Right
HR-V 2nd Gen 2016 Lower 51350T8MGO0
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
R
‘ H-424 Ball Joint Front Lower 51220STKAOI
TEKNOROT REF: H-56288 ADAPTABLEFOR HONLDA
Suspension Control Arm

Weight: 3740  Length: 366

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. Front Right
HR-V 2nd Gen 2016 Lower 51350T8MGO0

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/
K)\ i ng(f;ﬂgﬁg I

TEKNOROT REF.: H-5629 ADAPTABLEFOR HONIDA

Suspension Control Arm and
Ball Joint Assembly

Weight: 4802  Length: 386  Bolt Metric: M14X2

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
HR-V 2nd Gen 2016- Front Left Lower 51360T8MGO0
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
R
‘ H-424 Ball Joint Front Lower 512205TKAO1
TEKNOROT REF: H-56298 ADAPTABLEFOR HONLDA
Suspension Control Arm

Weight: 3740  Length: 366

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

HR-V 2nd Gen 2016- Front Left Lower 51360T8MGO0O

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: JA-1001 ADAPTABLEFOR JAGUAR
Steering Tie Rod End

Weight: 1158 Length: 201  Bolt Metric: M14X2  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
XE X760 2015- Front Right Outer T2HB305
TEKNOROT REF: JA-1002 ADAPTABLEFOR JAGUAR
Steering Tie Rod End

Weight: 1158 Length: 201  Bolt Metric: M14X2  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

XE X760 2015- Front Left Outer T2HB306

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/
\} i Eﬁgﬂgﬁg I

TEKNOROT REF. JA-128

Suspeqs/on Control Arm and Aluminium type
Ball Joint Assembly
&\
6::-9‘":
¢
Weight: 1149  Length: 2885
MODEL NO BODY CODE YEAR DIRECTIONS
. Front Right
XF X260 2016 Upper
COMPONENTS NUMBER NAME DIRECTIONS
s Control Arm
‘ ¢ J SB1311 Bushing Front Upper
TEKNOROT REF. JA-128
Suspension Control Arm and Aluminium type
Ball Jalnmssemb/ %
O N
¢
Weight: 1149  Length: 2685
MODEL NO BODY CODE YEAR DIRECTIONS
. Front Right
XE X760 2015 Uper
COMPONENTS NUMBER NAME DIRECTIONS
Cw Control Arm
> SB 1311 Bushing Front Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR JAGLIAR

OEMNO

T2H31592

OEMNO

T2H3193% T2H3192*

ADAPTABLEFOR JAGLIAR

OEMNO

T2H3192

OEMNO

T2H3193%, T2H3192*



/
\} i Eﬁgﬂgﬁg I

TEKNOROT REF: JA-129
Suspension Control Arm and

Ball Joint Assembly
£
9
Weight: 1149  Length: 2885
MODEL NO BODY CODE
XF X260
COMPONENTS NUMBER
Ca
y SB1311

TEKNOROT REF.: JA-129
Suspension Control Arm and

Ball Jalnmssemb/ y
d 6
P
Weight: 1149  Length: 2685
MODEL NO BODY CODE
XE X760
COMPONENTS NUMBER
-
h SB 1311

Aluminium type

ADAPTABLEFOR JAGLIAR

YEAR DIRECTIONS
2016- Front Left Upper
NAME DIRECTIONS

Control Arm
Bushing Front Upper
Aluminium type

YEAR DIRECTIONS
2015- Front Left Upper
NAME DIRECTIONS

Control Arm
Bushing Front Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

T2H5193

OEMNO

T2H3193% T2H3192*

ADAPTABLEFOR JAGLIAR

OEMNO

T2H3193

OEMNO

T2H3193%, T2H3192*



{5 T=NOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: KI-678 ADAPTABLE FOR H{JA

Suspension Control Arm and
Ball Joint Assembly

Weight: 3114  Length: 355

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. Front Right
RIO YB 2017 | ower 54501H8000
COMPONENTS NUMBER NAME DIRECTIONS OEMNO

KI-574 Ball Joint Front Lower 54500HB000% 54501HB000*

' SB 702

SB 448
TEKNOROT REF: KI-579 ADAPTABLEFOR KA
Suspension Control Arm and S e :
Ball Joint Assembly
Weight: 3114  Length: 355
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
RIO YB 2017- Front Left Lower 54500H8000
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
é KI-574 Ball Joint Front Lower 54500H80007, 54501H8000*

‘ 5B 702

56448

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



Py
\> TeCNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: KI-604
Suspension Ball Joint
L5
Weight: 740  Length: 109
MODEL NO BODY CODE
SOUL PS
TEKNOROT REF: M-396
Lateral Arm
M
Weight: 696  Length: 248
MODEL NO BODY CODE
SLH-CLASS R172
COMPONENTS NUMBER
o SB1110
@ SB1111

)19 AUGUST

ADAPTABLEFOR HA

4

OEMNO

54501620007, 5450062000*

ADAPTABLEFOR MIERGEDES

YEAR DIRECTIONS
2014- Front Lower
YEAR DIRECTIONS
2011-2019  "eerubper
Forward
NAME DIRECTIONS
Lateral Arm Rear Upper
Bushing Rearward
Lateral Arm Rear Upper
Bushing Rearward

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

1723500406

OEMNO

1723500206%

1723500206%



{5 TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: MI-458 ADAPTABLEFOR MIITSUBISHI

Suspension Control Arm and
Ball Joint Assembly

Weight: 2507  Length: 351  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
. Front Right
SPACE STAR 2012 | ower 4013A310
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
i MI-735 Ball Joint Front Lower 4013A310%, 4015A309*
TEKNOROT REF: MI-459 ADAPTABLEFOR MIITSUBISH/
Suspension Control Arm and

Ball Joint Assembly

Weight: 2507  Length: 351  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
SPACE STAR 2012- Front Left Lower 4013A309
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

i MI-735 Ball Joint Front Lower 4013A810%, 4013A309*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: MN-117 ADAPTABLEFOR MIINI/
Lateral Arm

=

Weight: 1042  Length: 532

MODEL NO BODY CODE VEAR DIRECTIONS OEMNO
COOPER R50,RE3 2001-2006 Rear 33326768724, 33326768726
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
SB1214
TEKNOROT REF: N-1003 ADAPTABLEFCR JNIFINITT
Steering Tie Rod to-2012

e RS

Weight: 438  Length: 161  Bolt Metric: M14X1,5  Housing Metric: M18X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

FX35 Znd Gen 2008- Front D85211CA0A, DBE211CADA

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



(\ TNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: N-1003 ADAPTABLEFOR [NIFINITT
Steering Tie Rod

1

e RS

Weight: 438  Length: 161  Bolt Metric: M14X1,5  Housing Metric: M18X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
FX37 2nd Gen 2008- Front D85211CA0A, DSE211CACA
TEKNOROT REF: N-323 ADAPTABLEFOR NISSAN

Weight: 497  Length: 2754  Bolt Metric: M14X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

PRIMERA (P12] 2002-2008 Front 48521AU000

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



( ) TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: N-743 ADAPTABLEFOR MISSAN
Steering Tie Rod for 2.0L Engine

Weight: 460 Length: 2758  Bolt Metric: M14X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

ALMERA (NI5) 1995-2000 Front 4852165F01, 4852165F25
TEKNOROT REF: N-743 ADAPTABLEFOR MISSAN
Steering Tie Rod e 9E-. A

Weight: 460 Length: 2758  Bolt Metric: M14X1,56  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

2005X 514 1995-1998 Front 4852165F01, 4852165F25

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



( ) TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: N-763 ADAPTABLEFOR NISSAN

Steering Tie Rod for power steering

-Hn

Weight: 420  Length: 2752  Bolt Metric. M12X1,25  Housing Metric: M16X1

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

ALMERA (NI5] 1995-2000 Front 485211IM210
TEKNOROT REF.: P-1023 ADAPTABLEFOR GfTROEN
Steering Tie Rod 12THP 110

Weight: 487  Length: 2155  Bolt Metric: M16X1  Housing Metric: M12X1

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

bs3 2009-2016 Front 1611158660

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T=NOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: P-1023 ADAPTABLEFOR PEUGEQOT
Steering Tie Rod

Weight: 487  Length: 2155  Bolt Metric. M16X1  Housing Metric: M12X1

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
208 GT! 2012- Front 1611158680
TEKNOROT REF: P-463K ADAPTABLEFOR GITROEN
S A

Steering Tie Rod Kit

A=
e

)

Weight: 625  Length: 1051  Bolt Metric: M14X15  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

Cc5 RC 2004-2008 Front 381763

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T=NOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: P-463K ADAPTABLEFOR GfTROEN
Steering Tie Rod Kit

P
WA

o

Weight: 625  Length: 1051  Bolt Metric. M14X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE VEAR DIRECTIONS OEMNO
c6 2005-2012 Front 3817.63
TEKNOROT REF: P-463K ADAPTABLEFOR PEUGEOT

Steering Tie Rod Kit

A=
= A

)

Weight: 625  Length: 1051  Bolt Metric: M14X15  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

407 2004-2011 Front 381763

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T=NOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: 8B 1118 ADAPTABLEFOR MISSAN
control Arm Bushing

Weight: 152  Length: 45  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
ALTIMA 4t GEQQ[JLBQA 2007-2012 Rear 551A0/A000*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
—— N-685 Lateral Arm Rear 551A0JA000
TEKNOROT REF: SB 1143 ADAPTABLEFOR ALJD/
Control Arm Bushing 4

Weight: 102  Length. 44

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
, Rear Upper .
a7 4M 2017 Forward Outer 4AMO5055236

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



&} e Eﬁw(f;mgﬁg Ant

TEKNOROT REF: 8B 1287
control Arm Bushing

25,

Weight: 154  Length: 51,86
MODEL NO BODY CODE YEAR
5-SERIES G30, G31 2017-
COMPONENTS NUMBER NAME
o
— B-1018 Control Arm &

Ball Joint Assy

TEKNOROT REF: SB 1288
Control Arm Bushing

0

Weight: 550 Length: 855
MODEL NO BODY CODE YEAR DIRECTIONS
5-SERIES G30, G31 2017- Front Lower
COMPONENTS NUMBER NAME DIRECTIONS
4 BIOBL | gllantasey | Lower Forwer
L | suom | pme Ao

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR BMW

DIRECTIONS

Front Upper

DIRECTIONS

Front Upper

OEMNO

31106661185*

OEMNO

31106861185

ADAPTABLEFOR BMW

OEMNO

31106861162*, 311066861161

OEMNO

311066861162

31106861161




TEKNOROT REF: 8B 1311 ADAPTABLEFOR JAGUAR
control Arm Bushing

Weight: 217 Length: 53

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

XE X760 2015- Front Upper T2H3192%, T2H3195*
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
’ IA-199 ControlArmand | Front Right TOH3192

p. Ball Joint Assy Upper

, Control Arm and
» / JA-129 Ball Joint Assy Front Left Upper T2H3193

TEKNOROT REF: S8 1311 ADAPTABLEFOR JAGUAR
Control Arm Bushing

Weight: 217 Length: 53

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

XF X260 2016- Front Upper T2H3192% T2H3193*
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
# IA-198 ControlArmand | Front Right ToH3192

y, Ball Joint Assy Upper

Control Arm and
» / JA-129 Ball Joint Assy Front Left Upper T2H3193

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: 8B 1312 ADAPTABLEFOR AUDY
control Arm Bushing

Weight: 736 Length: 53

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
T 8J3 2006-2014 7 Ugﬁtgrwer 8J04071510% 8104071520+
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
7485
TEKNOROT REF.: SB 1312 ADAPTABLEFOR ALJDI
Control Arm Bushing

Weight: 736 Length: 55

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
T FV3 2014- FrontLower 8J04071510% 804071520
Outer
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
N apag | CONOIAIMANT | cone) ot ower 804071520

Ball Joint Assy

A

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



( ) TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: 8B 1313 ADAPTABLEFOR GHRYSLER
control Arm Bushing

Weight: 145  Length: 376

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
300 1st Gen 2005-2010 Rear 68184782AB%, 668184783AB*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
o @ CR-126 Lateral Arm Rear Right 68184782AB
e~ e CR-127 Lateral Arm Rear Left 6818478248
TEKNOROT REF: §B 1313 ADAPTABLEFOR [JODGE
Control Arm Bushing

Weight: 145  Length: 378

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
CHALLENGER 4th Gen 2008- Rear 68184782AB* 68184783AB*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

o =@ CR-126 Lateral Arm Rear Right 68184782AB

e e CR-127 Lateral Arm Rear Left 68184782AB

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF.: SU-638 ADAPTABLEFOR SUBARU

Suspension Control Arm and
Ball Joint Assembly

Weight: 4106  Length: 3625  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. Front Right
XV GP 2012 Lower 20202FJ040
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
é SU-415 Ball Joint Front Lower 20202AJ05A%, 20202AJ04A%
TEKNOROT REF: SU-639 ADAPTABLEFOR. SUBARU
Suspension Control Arm and
Ball Joint Assembly

Weight: 4106  Length: 3625  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

XV GP 2012- Front Left Lower 20202FJ050

COMPONENTS NUMBER NAME DIRECTIONS OEM NO
; SU-415 Ball Joint Front Lower 20202A105A% 20202AJ04A*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ TENOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: T-366 ADAPTABLEFOR | EXUIS
Lateral Arm

= —p

Weight: 1280 Length: 458

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
£S350 XV40 2006-2012  RearRightLower 4673007040, 4673033100
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
3 T-474 Contrdl Arm | e | ower 4871006120
{ Bushing
TEKNOROT REF: T-366 ADAPTABLEFOR TQYOTA
Lateral Arm

S

Weight: 1280  Length: 458

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
AVALON XX530 2005-2012  Rear Right Lower 4873007040, 4873033100
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
9 T-474 Lontrol Arm Rear Lower 4871006120
& Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: T-366 ADAPTABLEFOR TOYOTA
Lateral Arm

= —p

Weight: 1280 Length: 458

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
CAMRY XV40 2007-2011  Rear Right Lower 4873007040, 4873033100
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
3 T-474 Control Amn Rear Lower 4871006120
‘ Bushing
TEKNOROT REF: T-367 ADAPTABLE FOR L EXLS
Lateral Arm

e .

Weight: 1280  Length: 458

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
ES350 XV40 2006-2012  Rear Left Lower 4874007020, 4874033100
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
9 T-474 Lontrol Arm Rear Lower 4871006120
‘ Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T=NOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: T-367 ADAPTABLEFOR TOYOTA
Lateral Arm

Weight: 1280 Length: 458

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
AVALON XX30 2005-2012  Rear Left Lower 4874007020, 4874033100
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
3 T-474 Contrdl Arm | e | ower 4871006120
{ Bushing
TEKNOROT REF: T-367 ADAPTABLEFOR TQYOTA
Lateral Arm

e .

Weight: 1280  Length: 458

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
CAMRY XV40 2007-2011  Rear Left Lower 4874007020, 4874033100
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
3 T-474 Lontrol Arm Rear Lower 4871006120
‘ Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



